MITSUBISHI
A ELECTRIC

ZFEFERPEMTE AE 2

MITSUBISHI Low-voltage Air Circuit Breakers tikpe AE

AE-SW f1EEE IIRSREAE

w&HFE Types covered in this manual

AAZh42—0v o (M)
INSTRUCTION MANUAL of Mechanical interlock (MI) for AE-SW

(&8 & RR5E A

[For parts sale]

MI-203D-W MI-204D-W MI-403D-W MI-404D-W MI-203F-W MI-204F-W MI-403F-W  MI-404F-W

MI-633D-W  MI-634HND-W MI-633F-W  MI-634HNF-W

BREAH LTSN,
JREEMTT,

BT Rz, Z oREHAEL
IOv=aTidNHsE RN L —=

Before using this accessory, please read this instruction manual. This manual is only for certificate staffs
who taken modification training. The customers must not modify by themselves.
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Interlock combinations

<Function>

The mechanical interlock is a secure interlock prohibiting the
parallel closing of two or three breakers.

(1) Any combination between AE630-SW to AE6300-SW is
possible.

It can be easily installed on both fixed and drawout type
breakers.

For the drawout type, the interlock only operates in the
connected position and is released in the other positions.
This allows easily sure and safe maintenance and

inspection of the breakers.

Note : ’

Dimensional drawing for installation of MI is referred to in
Fig.1—2.

(2)
(3)

Hu B i~

NJ-/A Pattern A
i B

ACB2 %% OFF O#fD 7% ACBL /X ON T& £,

ACB1 7% OFF OWD 7 ACB2 13:.0ON T £,

ACBI1 can only be closed if ACB2 is open and vice versa.

Dimensional drawing for installation
(mm)

Vertical installation Horizontal Installation

nN4-vB Pattern -B

3GDOACBDHH16HH VL2 EEFAMION Tx T,
One or two ACBs out of three can be closed at same time.
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N4-7C Pattern C

3EDACBDH5H 1HMD%HON TEET,
Only one of three ACBs can be closed.
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N4-D Pattern D

ACB2 73 OFF Ol§D 7% ACB1 ¥ KX TYACB3 [ ON Tx 4 ACB1
ACB1 ¥ L U ACB3 7% OFF ®Wfd ACB2 13 ON T& £, \

ACB1 and ACB3 can only be closed if ACB2 is open. *
ACB2 can only be closed when ACB1 and ACB3 are open.
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Fig.1—1

1—2 Fig.1—2

<Preparation>
Make sure that the ACBs are “OFF” and “DISCHARGED” by the
indicator. Y

In case of the drawout type ACBs, remove the breaker from the
cradle.



<MI 2=y FOEfHT>

B VA Y—DEkE

1) A=nAgrF—uays7MD)2=y hHElZA L F—1r >
704 ¥Y—TCH#fEL-Hé MI 2=y b Z3|HHF 713
R BRAHT 7

Q2 Ao Z—uy I UAY—%HFERL TIEIN,

3) Z7Vv—HI—MICRENRHDBRIFX A F—ay 7T T —

LEBLTOObaSy MIOREET,

RAE X229V
[Y/ " Hole of the panel

T T Wire support (T) PR O = Pk b o
Phliter V% b ) \f“"——_—_\ (Interlock wire)
Wire holder . v|| | . Rl
3 R T R8— A22—0Qy774%—
&4 (Adjuster)  (Interlock wire) r—%
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MI unit MI unit
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Fig.2—1
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At b v 2 2.4~3.1N » m] (X 2—2 &H)
IOEEEE NS — U BOLERRE AT,
TA ¥ —%272NTLEE,
FNNE— AN KRS RV ETOT, FEMIIER
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74 —FINE—
//' Wire holder

X 2—2 Fig2—2
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<MI unit mounting>

B Connection of wires

(1) MI units are mounted on the cradle or frame after wiring
between 2 or 3 units.

(2) Connect interlock wires.

(3) When there is a partition between breakers, put the wires
through the partition hole. Then connect interlock wires to
the MI units.

T4 =YK=+ (T)

(4) Put the end of the interlock wire, from the adjuster,
into the wire support (T) which is in the other MI
unit. See Fig.2— 1. Loosen the adjuster nut and
turn the adjuster counter-clock-wise to attach the

end of the interlock wire securely. (See Fig.2—2)

(5) Tighten the wire holder.

[Tightening torque 2.4~3.1N'm] (See Fig.2—2)

The connection is different according to each pattern.
Refer to the following description(page 6~page18) for

details.

’ \NG
O] \ok
AT OBRIZ Y A ¥ — i
OEEICEEDZ &
Note the direction of
the wire point.
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i - REEREREERT 5 3, 4)
Only for authorized person (Page3,4)

W ENERA KO
B Remodeling of the breaker

(1) EWBORGBHNA—OBRMRTEZRFTFT LTI,

R EZ F vy —REBIZL T b Fyr—UNU KVETH

CHRLTT, KEDAN—FWMIFLTIEEN,

(X 3—1, 3—2 &)

Remove M6 X 65 screws.

Remove the cover with the charge handle pressed down
with the breaker charged.

(See Fig.3—1, Fig.3—2)

1

(2) HEWFEROARE A N—Z ML LT EEY, (X3—3 M)
(2) Knock out the cover. (See Fig.3—3)
(3 MIv+7 hH%E C b AZIZTERAIF T &N,
LR—Z BT R I TEAHT T 7Z &0,
(M 3—4, X3—53H)
(3) Install the MI shaft unit with the Retaining Ring C type

Tighten M6 mounting screw, install the Lever.
(See Fig.3—4, Fig.3—5)
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TRIP Lever
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M % 7 M
MI shaft unit
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M6 screw

[X3—4 Fig3—4

M6 a2 0
M6 screw
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B3—1 Fig3—I 3—2 Fig3—2
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M5 screw M6 screw .o MeRU
M5 R L M6 screw
M5 screw
AE4000-SW~AE6300-SW |
X 3—3 Fig3—3
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BAHT OB N 97 U =L DM & \ITHEE D Z &
Note the direction of TRIP Lever and LEVER.
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R 3—5 Fig3—5 %
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Only for authorized person (Page3,4)

IAE4000-SW~AE6300-SW| .
Y o 7L AA—DOEORNTELHERL TL 72 &8V, 1.5mm #8B25BE81E. CLEOHwOE AL %7 Y FR— O
IZANR—H@F ANT0.5~1.5mm (25 L HICHBELTLEZE, (KM4—1 BW])

T1.5mm ZBRDHEA U F -0y JHERERIN R ROGEENR D 7,

IAE4000-SW~AE6300-SW|

Make sure to measure the waggled dimension of the trip lever(D.
When the dimension (>1.5mm) , make sure to adjust the correct dimension (0.5~1.5mm) to put some spacer@ between
the C ring® and the mainshaft support of ACB body. (see Fig 4—1)

If the dimension (< 0.5 ) or (>1.5mm) , interlock function of MI will not work.

AL 7 FYR— R 7y 7 RomETERAe TS
Attach the end of the spring on the block

Main shaft support
5% S AVENYIN
Hole of the mecha. frame

My7 vn'- (B)
Trip lever (B)

AL—A @RI L L
Return smoothly
(by spring force)

F oz [ 405~16mm O /
Check' ATk €)) (3)
Waggled dimension

OrY w7 Ls3—= OTrip lever

@C 1D @C ring - ] !
@R ~—H @®Spacer F=xvZ7 ! Check!
' My7 In° - BYAIZHIC & ) A L— R
WIRTHZLE2MRTHZL
Confirm Trip lever can return smoothly
by spring

¥ 4—1 Figd—1
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B Ml ==y b OEMB OB T <BIHEBEOHE >

B  MI unit mounting on the breaker<Drawout type >

(1) BIHHZE SFTNVZERFT TS EEN, f o F—ay 7 T4
Y—%ORW\WEHE T, M=y hEFIHAIZAL b,
RS Z - TR T E &,

[#ff b2 29~38N - m] (X5—18MH)

(1) Install the drawout frame in the panel. After connecting
interlock wires, mount the MI unit onto the drawout
frame by tightening M5 bolts and spring washers.

[Tightening torque 2.9~3.8N-m] (See Fig.5—1)

B M ==y  OENB~OBMI <BEEHOBE >

B MI unit mounting on the breaker<Fixed type>

(D) HEWERLR 7 L— 2DORA[RAFRNL F2ZTLTLLEEN,
(X 5—2 &)

(1) Remove the hexagonal screws on the right side frame.
(See Fig.5—2)

2) 74 Y —Hufttg, MI 2=y b % MI 7L — MNZ[EHED M6

AV b ITRESEE S TERMIT T 7Z &V,

kit h V2 4.7~6.4N-m] (X5 — 5 BH)

(2) After installing the wires, mount the MI unit on the MI

X5—1

plate by bundled tightening M6 bolts and spring washers.

[Tightening torque4.7~6.4N-m] (See Fig.5— 5)
BMI 2=y FMI 7L — M ZEHM 7 L— LI M6 BV b,
I XRE 4 % ff > THREMHIT T 72 &0,
[##fF hv2 29~3.8N - m] (X 5—3, X 5—4&M)

(3) Mount the MI unit with MI plate on the right side frame

by tighteningM6 bolts and spring washers.

[Tightening torque 2.9~3.8N-m] (See Fig.5—3, Fig.5—4)

RILhE BT
Remove these screws.

|

-

B
| Fixing bolts ™ ¢

AAE —

R

Fig.5—1

MI 7" v—}

CTI T | we
' @LIT | mirwr
' T Fixing bolts

X 5—2 Fig5—2 [X5—3 Fig5—3

M 5—5 Fig5—5

RIHAODF Wb, JHE4
Bundled bolts and washers

MI plate

MIZ1=y b
MI unit

N\

MIZ= NRATA
MI unit mounting hole

MIZ= R |ER:
MI unit % |7i if

AFEP SR 3
View A

RS N —

Breaker cover

EE Rk (H)
Side plate (R)

ARIEER
Right side viewed from the front

5—4 Fig5—4
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K= DIEBOAR L A A — VB RLET,
W — DRI 2 BAEEES KO8 3 BHERIC IS B BRI 2R L
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< Connecting MI unit (The typical examples of use) >

The name of each part and connection images are shown in this
page. The examples of connection in two ACBs and three ACBs
are shown after the following page.

N,

BE DL
Name of each part IN®—ACB 1
//—/’\ IN®—ACB 1
e
el !
3 IN®—ACB 1
! INO—ACB 1
OouT VA ¥—
OUT—ACB1

TR — N
Adjuster /
ACB1 ||

6—1 Fig6—1

U4 ¥ —DOERER
Connected holes of the wire
2 @2 ?g {1\
ouU " 5 9@ []
@ @ @ ol
IN

6—2 Fig.6—2

BgA A—

Connection image

(] 2 & 2 HfE L 7R 1B

[Example] Staté which connected two ACBs

OUT—ACB 2 IN@—ACB1

OUT—ACB 1 [:_‘> IN@—ACB2

6—3 Fig.6—3

- %



N #-/ A Pattern A

ACB 2 33Bfk (OFF) DREDHACB 1 XA (N Tx ¥4, =~ SHKZREIEE Typical circuit
A C B 1 2%k (OFF) DREDAH A CB 2 3## A (ON) T £,

- Between two ACBs

ACB1 can only be closed if ACB2 is open and vice versa. \ ACB1 j ACB2
E_ﬁm Interlocks possible

ACB1| O | I | O |1:0N .
ACB2]| O o 1 O : OFF 7—1 Fig.7—1

ACB1 m ACB 2
|E Tterel| [ T

OUT—ACB2 OUT—ACBI1

JN@—ACBZ IN®—ACB1

O
>

cj.

3

P

TY TaEs | B T T T

-

7—2 Fig7—2



N 4-7 B Pattern B

3 Bfthr

SENDACBDYHL1EHEINIX2E2FRFFICHEAON TEXET,

Between three ACBs

. One or two ACBs out of three can be closed at same time.

B 2 EIREH]  Typical circuit

Y Y
\ ACB1 gl \ ACB3

ACB 2

Al REZLIRME Interlocks possible * ACB2 *
ACB 1 0) I (0) 0 I I (0)
ACB2| O (0] I 0] I (0] I I:0N M 8—1 Fig8—1
ACB 3 0 0 0 I 0 I I O : OFF
ACB1

ACB 3

o

Cl®

s jgms
}S A2® 7~

7

@

OUT—ACB?2

A

A OUT—ACB3

A

OUT—ACB3

OUT—ACB1

[1 §
T ol
@° O

A OUT—ACB1

OUT—ACB2

INO—ACBS3

IN®—ACB1 INO—ACB1
* - "1N@-AcB2| M 1N@-acB3| A INO-ACB2
O Norr—rs A r—R & A r—R &
i | Wire length DA YR Wire length vAY—RS Wire length L
- 2.65m Wire length 1.65m Wire length 2.65m Wire length
U o, 165m n 165m _ " L65m_
T| 8l 3] L mf 5] 1) el 3]
> ) CIHE CIHN > ) @ 11
Y11 - C1 = B2 il

8—2 Fig8—2

SERAM =y MZiX, ¥ —VBEHADIES (A1,A2,B1,B2,C1,C2) RBFEINTVET,
Symbols(A1,A2,B1,B2,C1,C2) for connection of Pattern B is indicated on MI unit for 3 breakers.



N A=y C Pattern C

ER=tax: o

3BDACBDHH 1 EBDHEA(ON) TEET, AR 2B  Typical circuit

Between three ACBs

- Only one of three ACBs can be closed. Y Y Y
\‘ACBI \ACB2 \ ACB3

A REZ: IR A8 Interlocks possible +

ACB 1 0 I 0 0

ACB 2| O 0 I 0 I1: 0N e

ACB3] 0 | 0o | o | I | O:OFF BT BT

ACB1 ACB 2 ACB 3

|E T | E e | e

LOUT—ACBz)k OUT-ACB1 OUT-ACB1
OUT—ACB3 OUT—ACB3 OUT—ACBz2
IN@—ACB3 IN@—ACB1 IN®—-ACB1

A ‘.IN®—’ACB2 A IN®-ACB3| A IN@®—ACB 2

A

O

T v v—Rs I ¥—RE T4 ¥—R&

# Wire length - 74 YRS Wire length 7A¥—RS Wire length ALY —RE
1 2.65m ; Wire length 1.65m Wire length 2.65m Wire length

-

1.65m _ 1.65m 1.65m

T Lﬁlf o wﬂ@ :

9—2 Fig9—2

|

@f ||

=3

-+

SERAMI 2=y MZiX, ¥ —VBERAORELZRRTLTVET,
NE—=vC, RE—UDDRE/IT, ZOBRITESTERL T EEV,

Symbols for connection of Patter B is indicated on MI unit for 3 breakers. 4
When Pattern C and Pattern D are connected, be connected according to this manual.



N 4-vD Pattern D

3 Btk

A CB 2258 (OFF) DB DA ACB 1 BXTACB 33 A (N TE £,
ACB 18 XA CB 3 2B (OFF) BN A A CB 2 138 A (ON) TZ %9,

. Between three ACBs

ACB1 and ACB3 can only be closed if ACB2 is open.
ACB2 can only be closed when ACB1 and ACB3 are open.

BAE) 72 EIRE B  Typical circuit

Y
\ ACB1

¥
\ACB2 \ACB3

M Interlocks possible
ACB 1 1 o[ o1 v
ACB 2 o ol 1 o]l o] 1:0N
ACB3| O | 0 | O I 1 | O:OFF R~ Felo~1
ACB 1 ACB 2 ACB 3
M1 ’_] 1 '_} n -
TY1 ) T | 11§
|
@TW@@HE?I@WJ It en
I : =
N
OUT—ACB?2 OUT—ACB1
A
OUT—XACB3|OUI—ACE2
IN®O—ACB2 #1 IN@®—ACB 1 IN®—ACB2 #1
A Note A INO-ACB3| A Notel
O UAY—RE A -1 UL Y- 4
Wire length AP —RE Wire length A ¥—R& Wire length VMY —RE
U ?:.651'11 ) E Y(iigeniength 1.65m YV(J;-EG niength 2.65m :\;V:Srseniength
: 5 1} 1}
T| ¢ : TW@H ] ” i
EEEEEEEEEEEgE i— T llllIl lllll T™T

10—2  Fig.10—2

&1

of panel board.

BEAMI 2=y hit, ¥ — BEFAOEBEZRRTLTVET,

RE—2 C, ¥ — D OFAIL.

ZOBRBICE-> TERL T EEN,

Symbols for connection of Patter B is indicated on MI unit for 3 breakers.
When Pattern C and Pattern D are connected, be connected according to this manual.

ZOTAY—IIMERALERA, BOBEAR—ZAANTAS ¥ —PFR— b TCEHELTEE, " .
Notel. This interlock wire does not use in this Pattern D. Support the mterlockwn'emthmre support to a space

-

|




<PH¥EFS> How to adjust
P$%— ADHE Incase of patternA |

| [ I
©) =

2@ 1® 53 _
i U T i

[To]
—

[J-TLI
= = | ‘éﬁg%ﬂ%ﬂmﬁ

adjusting initial position

ik ok B 11—3 Figll—3
OUT—-ACB1 C——> IN@®—ACB2 OUT—-ACB2 C—> IN®-ACB1 i
ACB2 OO RIZHEET 5 ACB1 DO RIZHHET 5
It connects with the hole@ of ACB2 It connects with the hole@ of ACB1.
11—1 Fig.11—1
BCBRFM  Limitations
SR ¢ Bl BB S 614 62+ 60 =540" .
(1) W38 % BEREALIE E TIRA L TS0, Bending radius : Rz 100 61 1'% PoN9NG angle 617 0t =340
(BIHBOSHE) N X T 4/
(1) TInsert the breaker to CONNECTED position. s f e
(in case of drawout type) . EE
(D) o wP—nu g ol —F 0L P—RFy H— Y ’ {L8—-0y 974 %— (Fix)
THEHELTL f:gl,\m (M 11—2 &8) (Interlock wire)

(2) Support the iitterlock wires with wire support.

(See Fig.11—2) 11—2 Fig.11—2

; /A & CAUTION
A F =y 794 % =3I 11-2 DFERICHE> THRECBFT-obic, R TRB2{TR-oTLZE
v, E%ﬁﬁ%ﬁ&b@wk%hﬁbbif
Mount the interlock wires correctly (See Fig. 11—2)

Otherwise there is possibility of problems with the wire motion.
Make sure to adjust the gap between the Lever (trip shaft) and the Trip pin (See Fig.12—1) otherwise prob]ems
may occur with the motion of the interlock.

(3) HEWERIX2H L H OFF ICLTLZ &N, (3) Make sure that the two ACBs are OFF position.

4) 2TOT Vv AF—ZHENAOPRAE GHEYHGIE) () All adjusters are tightened to a central position of
FThED Z T, (M 11—3 M) the adjustment fee (adjusting initial position). \

(5) ACBIO Y v FEL L A— (FYyTixT b) (See Fig.11—3)

ORIOX v v 7L £, (5) Adjust the gap between the trip pin of the MI unit
and the Lever (trip shaft) of ACB1 by using
TOXREI—1QTHXy v TH#REL T, adjuster 12).
¥ EFP TV R —EKEFELFREICEL, 4T —EX v 7 %  Turn the ad]uster counterclo,gkwwe And confirm
EERIZLTLEEN, g the gap is zero. X
WIZ, BEFFHAICEL TF v » 7% 0.2~1.2mm (ZFRE L Then turn the adjuster clockwise to adjust the gap
TLFEEWY, as follows. The gap : 0.2~1.2mm

(¥ 12—1 &H) (See Fig.12—1)



6) ACB2O R y7E ELA— (M) T TUrT}) (6) Adjust the gap between the trip pin of the MI unit

OEOX v v 7 HHELET, and the Lever (trip shaft) of ACB1 by using
TIOX¥RAEZ—2QTX vy v 7H2REELET, adjuster 2Q2).
* (AR FETHBEL TLZEWN,) % .(Adjust it by the above-mentioned method.)

N

LiIS— (M) 9T+ T H)
L~ Lever (trip shaft)

| ~—arm
YD

Trip pin MiZ=Z b
‘J/ MI unit

LIS— (M) wTov 7 h)
Lever (Trip shaft)

[ ¥y TR
) Adjust this gap.

TP NE]
/' Magnification

EEESEAE 00000000 SR>

Breaker
AEE X vy 7:0.2~1.2mm
Adjust Gap:0.2~1.2mm

ABEANPSES  View A

(D EET2ZON)
Other Breaker is ON

Uy TES ({BOERIFOFF)
Trip pin Other Breaker is OFF

FPovR8—=
Adjuster o~

ZheE@TI &L BEAMIZZ Y PO RY v TEZE
LIS— (MY yTovT7b8) OFX vy THRBTES,

By turning this adjuster, the gap between trip pin

and the lever (Trip shaft)can be adjusted.

¥

¥ 12—1 Fig.12—1 .~

(1 RE®R, TOYRAY—HOTy bEfifT, TUF R .
Z—ZEELTLEED, (K122 B/H) :
(7) After adjusting lock the adjuster by tightening the
nut. (See Fig.12—2) p
8) #EfTHTH., VA Y —OMB PN L EZFERL T 7ZE0,
TV A= TA Y —HRNEZ—RDOT A ¥ —%5|>FE->T
HTHER LS TZE 0,
(8)  Confirm there is not loosening of the wire after tightening. \ (7
Pull and confirm the wire on the adjuster side and the wire : !
holder side. ) ’ b
(9 FABZEOMRZLTITZRo TLEE N, (19 X—=T%H)
(9)  Confirm operation check after adjusting. (See page 19)

— Fy b

Nut of adjuster

12—2 Fig.12—2



P$%—> Bo#PA In case of pattern B |
’/ ’ 1 )i
’ 1 A /
D ES 1@)s@ 10k

Jun

30 :
OUT—ACB1 C——> INO—-ACB3

ACB3 OO RIZ#HEeT 5
It connects with the hole® of ACB3

2@ :
OUT—ACB1 C——> IN@—ACB2

ACB2 O@D I+ 5

It connects with the hole® of ACB2.

K 13—1 Fig.13—1

2

(1) JEMFE2 & BEE (B £ CIRA LT 280,

(BIHEDOREE)

@ A=y I I Y= TAY—RT v A—7R ETHEE

LTLEZY, (M11-228)

U

1@ :
OUT—ACB2 > IN@—ACB1

ACB1 0@ RIzHGe T 5
It connects with the hole@ of ACB1

3@ :
OUT-ACB2 T—> IN@—ACB3

ACB3 @D RIzH##i1 5

It connects with the hole@ of ACB3.

ajaly

10 :
OUT-ACB3 ——> IND—ACBI

ACB1 0D RIZHERT 5
It connects with the hole® of ACB1

20 :
OUT—ACB3 > IND-ACB2

ACB2 0D RIz#EeT 5
It connects with the hole() of ACB2.

(1) Insert the breaker to CONNECTED position.

(in case of drawout type)

(2) Support the interlock wires with wire support.

(See Fig.11—2)

A\ EE CAUTION

A F—avl T4 % —IEK 11—2 ORI THREICERAMAT =05
W, EEEEEZITRDRVBEARHY £,

Mount tfe interlock wires correctly. (See Fig. 11 —2)
Otherwise there is possibility of problems with the wire motion.

Make sure to adjust the gap between the Lever (trip shaft) and the Trip pin (See Fig.12—1) otherwise problems
may occur with the motion pf the interlock.

LT EE (T TS

W

- %




(3) EWERIL3 B L H OFF [Z L TLE &Y,
@) 2ToOT7T Vv A Y —EREAOPRALE GHEMHA

(5)

(6)

(7

*
(8)

9

(7

3
(4
B) oo, (K11-32/)

ACB2, ACB3®D ) vy 7B L L— (M) Ty

Y7 ) OMOXy v 7 EHRHELET,

ACB1 # ONIZLTL7Z& W, o 2 BIX OFF IZLTL 72
X,

(5)

TOx A2 —2DTACB2 DX ¥ v 72 LET,

F, TV A —EFXIEFHIEICEIL, 4T —EX vy v
TEERIZLTLEXN,

Wiz, Bt A MAIZEIL TX v v 7% 0.2~1.2mm (TR L
TLEEYn, (K12—-15H8)

ES

TIOx¥ A —3DTACBIOX v v 7B L 7,
(AR D FETHEL T ZEWN,) %

ACB1, ACB3®D F) vy 7L "— (R vy 7o v 7 (6)
MOBOX v v 7 2L £7,

ACB2# ONIZLTLZ&EW, o 2 HIXZOFFIZLTL 7
éb\o

7Ox¥ 22 —1DTACBl DX v v 72 TE L7, *
FEHROFETHEL TS ZEW, )

TV% ZAF2—3DTACB3 DX v v 72HBEL £,
AR OHETHEL T ZEN, ) *

ACB1,ACB2D h ) v 7 L AA—= (MY w77 k) (7)
OEOX vy v 7 RWEL T,

ACB3 # ONZLTLZ& W, i 2 BIX OFF (2L TL 72
Xy,

TIOx¥AZ—1DTACBLOX v v 7B L £, *
FHROFETHREL T ZEN, )

TIOXAF—2@TACB2OX v v 7EWEL LT,
EHROFETHEL T EE, ) *

WIS, TOXAY—HOF Y bEREHT, TV RZ2— (8)
FEELTLEEN, (H12—2 1)

AT VA Y —OMBNENZ L ERERLTLE X, 9)
TOr RZ— L T X —HRAF—RO T A ¥ — %8| -5
S>THTHRL ZE,

Make sure that the three ACBs are OFF position.

All adjusters are tightened to a central position of
the adjustment fee (adjusting initial position).

(See Fig.11—3)

Make sure that the ACB1 is ON position.

Make sure that the ACB2 and ACB3 are OFF position.

Adjust the gap between the trip pin of the MI unit

and the Lever (trip shaft) of ACB2 by using adjuster 2.
Turn the adjuster counterclockwise. And confirm

the gap is zero.

Then turn the adjuster clockwise to adjust the gap

as follows. The gap : 0.2~1.2mm  (See Fig.12—1)

Adjust the gap between the trip pin of the MI unit
and the Lever (trip shaft) of ACB3 by using adjuster 3@.
(Adjust it by the above-mentioned method.)

Make sure that the ACB2 is ON position.
Make sure that the ACB1 and ACB3 are OFF position.

Adjust the gap between the trip pin of the MI unit
and the Lever (trip shaft) of ACB1 by using adjuster 1.
(Adjust it by the above-mentioned method.)

Adjust the gap between the trip pin of the MI unit
and the Lever (trip shaft) of ACB3 by using adjuster 3.
(Adjust it by the above-mentioned method.)

Make sure that the ACB3 is ON position.
Make sure that the ACB1 and ACB2 are OFF position.

"Adjust the gap between the trip pin of the MI unit

and the Lever (trip shaft) of ACB1 by using adjuster 1@.
(Adjust it by the above-mentioned method.)

Adjust the gap between the trip pin of the MI unit
and the Lever (trip shaft) of ACB2 by using adjuster 2@.
(Adjust it by the above-mentioned method.)

After adjusting lock the adjuster by tightening the

nut. (See Fig.12—2)

Confirm there is not loosening of the wire after tightening.
Pull and confirm the wire on the adjuster side and the wire
holder side.

RS OMERE L TT > TLTEE VN, (20 X—T W) (10) Confirm operation check after adjusting. (See page 20)

]

W

-



V% —> CDHA  In case of pattern C |
- /]
// (’ /’(
opEy) o) ooppEe

30 :
OUT—ACB1 :> IN@—ACB3

ACB3 0Q 0 7RIz 5

It connects with the hole@ of ACB3
20 :

OUT—ACB1 [——> IN®@-ACB2
ACB2 QDRI T 5

It connects with the hole@ of ACB2.

15—1 Fig.15—1

(1 E%ﬁ%ﬁé’&‘%’*u iTT%)\LT< 7EEY,

GIHEORE)

(2)/(/5’ —0 Y I UL X—%TA T — AT v =1 ETEE

LTL7EEn, (@11—-228)

il

19 :
OUT-ACB2 > IN@®—ACB1

ACB1 Q0 RIZHg:T 5
It connects with the hole@ of ACB1

3®:
OUT—-ACB2 [——> IN®- ACB3

ACB3 D@D Iz T 5

It connects with the hole® of ACB3.

1®:
OUT—ACB3 > IN®—ACB1

ACB1 O@D 7RIz He T 5
It connects with the hole® of ACB1

2@ :
OUT—ACB3 C——> IN®—ACB2

ACB2 @D IZH KT 5
It connects with the hole® of ACB2.

(1) Insert the breaker to CONNECTED position.
(in case of drawout type)
(2) Support the interlock wires with wire support.

(See Fig.11—2)

A\ E®E CAUTION

Mount the interlock wires correctly. (See Fig. 11 —2)

Otherwise there is possibility of problems with the wire motion.
Make sure to adjust the gap between the Lever (trip shaft) and the Trip pin (See Fig.12— 1) otherwise problems
may occur with the motion of the interlock.

AV Iy 7 T4 % —FX 11-2 OFRICHE > TRECRT oLz, B THELTR-> TS
W, EFEVMERITTR bR VWBEARS D 7,

»

W

- %




(3) HEWTERT3I ALY OFF IZLTL7Z& W,

(3) Make sure that the three ACBs are OFF position.

4) B2TOT Px A ¥ —ZFENAOPRAE (FHEMWAE) £ (4) All adjusters are tightened to a central position of

ThED ZTe, (X 11—3 M)

(5) ACB1®F)yFEr b= (R yTT¥7 ) OR

DX ¥y THRELET,
FOx¥ A4 —1QTACBl OX v v 74 RELET,

* EP. TOXRI—EREHFEICEL, LF—EXyy ¥

TEEaZ LT EEV,

Wiz, BFRtAMICE L TX v v 7% 0.2~1.2mm ([ZFREE L

TLEEY, (X 12—1 &)

TO%¥AZ—10TACBl DX v v 72 B L 7,
*  (AIROFETHEL T ZE0,)

6) ACB2DRY vFE L _— (MY vy Tov7 k) OB

DX ¥y 7B LET,

TO%¥AZ—20TACB2 DX v v 72 HEBEL £,
* (AR FETHREL T ZEN,)

TIOx¥AX—20TACB2 DX ¥ v 74T L 3,
* (AR FETHEL T ZEN,)

(7) ACB3D R w7 ELARA— (MY Ty 7 k) ORF

DX v v TERHELET,

TOx¥ AZ—3DTACB3 DX v v F#FELET,
*  (FROFETHEL T EIN,)

7% AF—30TACB3 DX v v 7B L 7,
* (AR FETHEL TS ZEN,)

®) W%, TVx AY—EWOF v FEEHT, T xRS —

FEELTES, (0 12—288)

(9) #EFHTH., 74 ¥ —OANENT L E2HERL T EE,

the adjustment fee (adjusting initial position).

(See Fig.11—3)

Adjust the gap between the trip pin of the MI unit

and the Lever (trip shaft) of ACB1 by using adjuster 12.

Turn the adjuster counterclockwise. And confirm
the gap is zero.

Then turn the adjuster clockwise to adjust the gap
as follows. The gap : 0.2~1.2mm  (See Fig.12—1)

Adjust the gap between the trip pin of the MI unit
and the Lever (trip shaft) of ACB1 by using adjuster 1©).
(Adjust it by the above-mentioned method.)

Adjust the gap between the trip pin of the MI unit
and the Lever (trip shaft) of ACB2 by using adjuster 2.
(Adjust it by the above-mentioned method.)

Adjust the gap between the trip pin of the MI unit
and the Lever (trip shaft) of ACB2 by using adjuster 2.
(Adjust it by the above-mentioned method.)

Adjust the gap between the trip pin of the MI unit
and the Lever (trip shaft) of ACB3 by using adjuster 3@.
(Adjust it by the above-mentioned method.)

Adjust the gap between the trip pin of the MI unit
and the Lever (trip shaft) of ACB3 by using adjuster 3.
(Adjust it by the above-mentioned method.)

- After adjusting lock the adjuster by tightening the

nut. (See Fig.12—2)

Confirm there is not loosening of the wire after tightening.
Pull and confirm the wire on the adjuster side and the wire

holder side.

TIOX AL TA T —FN T —UDOTA Y —&5128] (10) Confirm operation check after adjusting. (See page 21)

2> THTHERLTES VY,

(10) AEEOMREZLTITR o TLEI, Q1 X—UBH)

\t
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% —> D DA In case of pattern D |

alnlals alnlnlss alnlnls

20 : 19 : 2@ :
OUT—ACB1 > IN@-—-ACB2 OUT—-ACB2 [——> IN®-ACB1 OUT—ACB3 C——> IN®—ACB2
ACB2 O@0O I HEfET 5 ACB1 D@0 RIZHERET 5 ACB2 DD IR 5

It connects with the hole@ of ACB2 It connects with the hole@ of ACB1 It connects with the hole@ of ACB2

3@ :
OUT—-ACB2 [——> IN®-ACB3

ACB3 0@ Rz kT 5
It connects with the hole@ of ACB3.

17—1 Fig.17—1

(1) HEWTERZ BB £ TIHA L T2 &, (1) Insert the breaker to CONNECTED position.

BIHFEDOHEE) (in case of drawout type)
Q) A H—u I TLY—hUAY—2F v H—7 PCEE (2 Support the interlock wires with wire support.

booLTKEEY, (M 11-288) (See Fig.11—2)

A\ EE CAUTION

A EZ—0y 7 UL =3I 11-2 ORI THEERICERMTT-0bI2, LTREE2 T T X
V. EFEEERITRDRVBERARD Y T, .

Mount the interlock wires correctly. (See Fig. 11—2)

Otherwise there is possibility of problems with the wire motion.

Make sure to adjust the gap between the Lever (trip shaft) and the Trip pin (See Fig.12— 1) otherwise problems
may occur with the motion of the interlock.

Y
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(3) EWERIX3HEH OFFIZLTLEENN, (3) Make sure that the three ACBs are OFF position.
1) 2TOT Vv A Y —ZHEBEAOPRMAE (FHEMMAE) (4  All adjusters are tightened to a central position of

FCoRED T, (X 11—3 BMK) the.adjustment fee (adjusting initial position).
5) ACB1OFY yFEvELsi— (FYy7vy7 ) o (SeeFigll—3) .
DOXx v TRPFELET, (5) Adjust the gap between the trip pin of the MI unit

and the Lever (trip shaft) of ACB1 by using adjuster 12).
7YX AZ—1@QTACBLOX v v 2B LE T, . .
% P Ty AY— RS FEICEL. 4T —EXy v~ * Turnthe adjuster counterclockwise. And confirm
FPolzLTLEEN, the gap is zero.
Kiz. BHARIZEILTE Y v 7% 0.2~1.2mm (2JH% L Then turn the adjuster clockwise to adjust the gap
<< ;v:é : \ ' ’ as follows. The gap : 0.2~1.2mm
(= 15_ 1 Z;BE) (See Fig.12—1)

6) ACB2O RV vyFEVELARA— (M) vy 7 ) O (6) Adjust the gap between the trip pin of the MI unit
OXx v T H/ELET, and the Lever (trip shaft) of ACB2 by using adjuster 2.

. . . (Adjust it by the above-mentioned method.)
TIOXAZ—20TACB2OX ¥ v 72 MELET,

*  (ADROFETHEL T ZEL,) Adjust the gap between the trip pin of the MI unit
. ) B and the Lever (trip shaft) of ACB2 by using adjuster 2.
TIOxAZ—2QTACBZOX ¥ v TEREL LT * (Adjust it by the above-mentioned method.)

*  (ATROFETHEL T 7ZEW,)
(7)  Adjust the gap between the trip pin of the MI unit

(7) ACB3DRY w7t Ri— (M)wFvv7h) OB and the Lever (trip shaft) of ACB3 by using adjuster 3@.
OFXx vy THRELET,

T ¥ AH—32DTACB3 DXy v FHFELET,
* (AR OFETHEL T EEND,)

% (Adjust it by the above-mentioned method.)

(8) After adjusting lock the adjuster by tightening the
nut. (See Fig.12—2)

(8) MER. TovRI—MOF v FEET. TV¥ 2 (9) Confirm there is not loosening of the wire after tightening.
F—ZEELTLES, (K 12—258) Pull and confirm the wire on the adjuster side and the wire

©) #HIR. T4 Y —OWBNENT L EHBL TS &Ly,  holderside. -
F S Rl L T A Y — (DT A o — B 3 (10) Confirm operation check after adjusting. (See page 22)

O’C#TEE%< fiéb\o
(10) W OB E BT 7725 TS, (22 X—VBH)

AN
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<K OMER> < Operation check >
% — A DA [n case of pattern A |
1) 2ToOHEMZRE A 7L T ZE, (1) Turn off all breakers.
(2) 2 TOEWNELF ¥+ — LTI X, (2) Charge all breakers.
(3) ACB1 A4 1CLTL &, (3) Turn on ACBL.
(4) ACB2D ONRZ L 2L TH. AL\ & 25k (4) Try to turn on ACB2 by the ON button.
WLTLEE, Confirm ACB2 cannot be turned on.
(5) 4T OWEWBES 4712 LT &0 (5) Turn off all breakers.
6) 2T OWEMELFr— LC< T“éi\ (6) Charge all breakers.
) el . T (7)  Turn on ACB2 breaker.
(7) ACB2 % j_/ﬁibf KEEW, (8) Try to turn on ACB1 by the ON button.
(8) ACB1DONRZ »ZFLTH, BALRWI L2k Confirm ACB1 cannot be turned on.

RBLTLEEN, (9)

(9) BEOMER%E., 11 N—C DO <HEFESITEN R v
TELELA— (R vy TV ¥ 7 b)) DXy v 778 0.2
~1.2mm OEICH D Z L EHRL T Z &,
RERFHTHRVEAIE, 11 =Y O<MWEHE>
(2> THMABE L T a0,

After a few operations, checking, confirm the gap
between the gap pin and the lever (trip shaft) is
0.2~1.2mm according to page 11.

If not, adjust the gap according to page 11.

HE Note :
A2 —av 7T B MBTOMIX T, MI can operate only when the breakers are “connected”.

/N fai& DANGER

—HOEWERE A7 L=tk 0N E2 4T 2585813, 0.5BULEDAS 2=kl osTLIEE,
A Vé?_—u;y I DEBRNETET A TERWAEERH Y F9,.

2 B DM ORIEA L REITERELOBENND Y T 0 THEIITHRNTL Z &,

After turni_ng off one breaker, an interval longer than 0.5s should be allowed before turning on the other,
| or the switch may not be turned on because the interlock release is not completed.

Two breakers must not be turned on the same time to avoid short-circuit.

3
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b<x— B 0ipa]

(1) 2 ToHEMRRE A 7L TLEEN,

(2) 2ToHWFEZ T v— L LTLIEEN,

(8) ACB1 A4 Iz LTLIZ&EW,

(4) ACB2 %A1 LTLIE&EW,

(5) ACB3®ONRZ U #MLTH, MALRNWI L&
BLTLEEN,

(6) ACB1 24712 LTL &V,

(7) ACB3DOONRZ U #MLT, MATHZ L 2MERL
TLTIEEWY,

(8) ACB1 2F ¥+ —Y L TL7E&L,

(9) ACBL®O ONRZ U Z#LTH, BALRWZ & %
mLTLEEN,

(10ACB2 A 71z L TLIF& W,

(IDACB1 D ONARZ U #W LT, MATHZ L 2R L
TLEEN,

(12 ACB2 2 F ¥ — 2 L TL £ &,

(13)ACB2 D ON R Z v #LTH, A LW & %5k
ML TLEEN,

(14)ACB1 #4712 L TL &,

(15) ACB2 D ON R ¥  # LT, AT D Z & # R
TLIE&EVY,

(16)ACB1 2 F ¥ —Y L TL 7Z &,

(ITMWACB1 D ON R Z U #LTH, A LW L %5k
BLTLEEN,

(18)ACB3 # A4 712 L TL T &,

(19ACB1 ® ON R Z » # LT, AT HZ L 28 L
TLEE,

(200ACB3 #F v+ —L L TL E&LY,

2DACB3 D ONARZ U #MLTH, MALRNWT &L &M
BLTLEEN,

(22) ACB2 #4712 L TL &,

(23)ACB3 ® ON R Z v ML T, AT HZ L 2MEEL
TLEEY,

(24ACB2 2 F ¥ —T L TL &V,

(25)ACB2 D ON R Z %L TH, MALRWT &L 2 H
BLTLIEEW,

;O BE DR, 13 ~— Y O <GEFIE>IZENF ) >
T ELARA= () Ty T B) OF ¥ v 7T 0.2
~1.2mm OICH 5 L A#RERB LT E &,
RERTESTRVBAIR 13—V O<HEFIE>
> THRAE LT ZEW,

EE ' '
A Z—ar7 i3 B METORBE £,

[n case of pattern B |

(1) Turn off all breakers.

(2) Charge all breakers.

(3) Turn on ACB1.

(4) Turn on ACB2.

¢5) Try to turn on ACB3 by the ON button.
Confirm ACB3 cannot be turned on.

(6) Turn off ACB1.

(7) Try to turn on ACB3 by the ON button.
Confirm ACB3 can be turned on.

(8) Charge ACBI.

(9) Try to turn on ACB1 by the ON button.
Confirm ACB1 cannot be turned on.

(10)Turn off ACB2.

(11D)Try to turn on ACB1 by the ON button.
Confirm ACB1 can be turned on.

(12)Charge ACB2.

(13)Try to turn on ACB2 by the ON button.
Confirm ACB2 cannot be turned on.

(14) Turn off ACBI1.

(15) Try to turn on ACB2 by the ON button.
Confirm ACB2 can be turned on.

(16) Charge ACB1.

(17) Try to turn on ACB1 by the ON button.
Confirm ACB1 cannot be turned on.

(18) Turn off ACBS3.

(19) Try to turn on ACB1 by the ON button.
Confirm ACB1 can be turned on.

(20) Charge ACB3.

(21) Try to turn on ACB3 by the ON button.
Confirm ACB3 cannot be turned on.

(22) Turn off ACB2.

(23) Try to turn on ACB3 by the ON button.
Confirm ACBS3 can be turned on.

(24) Charge ACB2.

(25) Try to turn on ACB2 by the ON button.
Confirm ACB2 cannot be turned on.

(26)After a few operations, checking, confirm the gap
between the gap pin and the lever (trip shaft) is
0.2~1.2mm according to page 13.
If not, adjust the gap according to page 13.

Note :

MI can operate only when the breakers are “connected”.

A\ fEB® DANGER

After turning off one breaker,
other,

—HOEWERE AT Lk, 7 OEWESRE AT LA, 0.5 U LEDOAS U F =Rkl o TSZENY,
A E—ay 7 OBERPTETET AL TERWATRERLRH Y £7,

3 BOEMBORIF A BEITEREFLOBZNSH Y T O THRITITLRN T,
an interval longer than 0.5s should be allowed before turning on the

or the switch may not be turned on because the interlock release is not completed.




& —v CnBal

(1) 2ToOEMIBEE A 7ICLTLFEN,
(2) 2TOHEMEBZTF vy — L TL A,
(3) ACB1 A vicLTL &,

[In case of pattema

(1) Turn off all breakers.
(2) Charge all breakers.
(3) Turn on ACBI1.

(4 ACB2 D ONKZ 4L T, MALARNE L@ (4 Try to turn on ACB2 by the ON button.

WL TSN,

(5) ACB3®ONRZ UL TH, AL & 25

LT 7EEN,
(6) ACB1 #4712 L TLF &,
(1) ACB2 A1z LTLFF&EW,
(8) ACB1 2F ¥ —Y L TL7F&,

(9) ACBLOONRZ U %##LTH, AL & 2fk

LT ZEN,

Confirm ACB2 cannot be turned on.
(5) Try to turn on ACB3 by the ON button.
Confirm ACB3 cannot be turned on.
(6) Turn off ACB1.
(7) Turn on ACB2.
(8) Charge ACBI.
(9) Try to turn on ACB1 by the ON button.
Confirm ACB1 cannot be turned on.
(10)Try to turn on ACB3 by the ON button.

(10ACB3 D ON RZ %L ThH, AL & 2Hk Confirm ACB3 cannot be turned on.
BLTLZ&EWN, (1D Turn off ACB2.
(IDACB2 24712 LTLE &N, (12)Turn on ACBS3.
(12) ACB3 # 412 L TL IF &, (13)Try to turn on ACB1 by the ON button.
(13)ACB1 ® ON RZ v L TH. AL & % Confirm ACB1 cannot be turned on.
e (14)Charge ACB2.

LT ZEN,

(14ACB2 % F v — & LT 2 &1 (15)Try to turn on ACB2 by the ON button.

¢ b . Confirm ACB2 cannot be turned on.
(15)ACB2 O ON K5 2L Th, HALRVZ & &4 (16)After a few operations, checking, confirm the gap

?’{J LT< ZL:? o o _ ) ; between the gap pin and the lever (trip shaft) is
(16) %[l DB 15 ~— ¥ O <FHEEIHHE> TN R Y 0.2~1.2mm gap according to page 15.

TEELA= (LY v 5/’\’_7 b (DﬂF\“\’ > 713 0.2 If not, adjust the gap according to page 15.

~1.2mm OEIZH D Z L 2R L T &N,

REDBFE TRVEEIE, 16 =T 0 <HEHE>

> THREL T ZE,

i ’ Note :
A F—a 73 B (LB TOREX FT, MI can operate only when the breakers are “connected”.

A\ fEB& DANGER

—HOWWEE AT Lictk, i OMEKBE LT IHRAIE, 0.5BULEDAL L F— LB L 5T XN,
A F =t OBRPZE T4 T TRVATREMED 5 ) 57, :

3 B DOEMIER DRIFE A L REIIER EROBZENNRH Y T O THXHIITDARNTL 72 X0,

After turning off one breaker, an interval longer than 0.5s should be allowed before turning on the
other, r
or the switch may not be-turned on because the interlock release is not completed.

4
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P —> D DA [n case of pattern D |

(1) &2 TofEMzRE 4 712 LTLZEEN, (1) Turn off all breakers.
(2) 2TOMHWEAEF ¥ —L LTLEEN, (2) Charge all breakers.
(3) ACB1 %4 IC LTL &, (3)  Turn on ACBL.
(4) ACB2 D ONRZ L %L TH, AL & %5 (4) Try to turn on ACB2 by the ON button.
WLTIEE, ~  Confirm ACB2 cannot be turned on.
(5) ACB3 ™ ON K ¥ L 2 LT, AT 5 & o@amlL (> Ty toturn on ACB3 by the ON button.
5 t Confirm ACB3 can be turned on.
- TLEE, (6) Try to turn on ACB2 by the ON button.
(6) ACB2® ONRZ L TH, FALRNZ L2k Confirm ACB2 cannot be turned on.
mLTCEsy, (7) Turn off ACBI.
(7) ACB1 A4 ZIZ LTS, (8) Try to turn on ACB2 by the ON button.
(8 ACBZ DONRZ U ZHLTH, BALRWZ L 2T Confirm ACB2 cannot be turned on.
LT, (90 Charge ACBI.
(99 ACB1 2F ¥ —TY L TL &L, (10) Try to turn on ACB1 by the ON button.
(10ACB1 ® ONARZ 2 LT, MATLHZ L 2R L Confirm ACB1 can be turned on.
TEEW, (11) Try to turn on ACB2 by the ON button.
(1 1)ACB2 DONRZLUEZWLTH, ALV L 25 Confirm ACB2 cannot be turned on.
B LT A, (12) Turn off all breakers.

(13) Charge all breakers.

Uméfmﬁwﬁ%ﬁ7mbf<ﬁéwo
(13T DM E F ¢ — 2 LTS, 1 mum.onAGER,
(14)ACB2 % 41z LT< 72 5 4o, 15) Try tp turn on ACB1 by the ON button.
Confirm ACB1 cannot be turned on.
(15)ACB1 DONRZ L EMLTH, MALRNZ L 2 H (16) Try to turn on ACB3 by the ON button.
R LTLIESN, Confirm ACB3 cannot be turned on.
(IG)ACB3 DONKRZZMLTH, MALRNWI &2 (17) After a few operations, checking, confirm the gap
ALTLIZEN, between the gap pin and the lever (trip shaft) is
ADEEIORER%L 1T X— L O <FHEFE> TN Y » 0.2~1.2mm according to page 17.
T ELARA—=(R) T 7 R) DX ¥ v 7H 0.2 If not, adjust the gap according to page 17.
~1.2mm OEICHDHZ & MR L T 7ZEVY, :

ﬁ%mﬁ T@w%A I, 17T =V O<FEHE>
(P> THHER L T &,

Note :
nE T MI can operate only when the breakers are “connected”.

AvF—my7iE “BEfr” PLIE ’C(D%L@J%i*h

. /A faBR DANGER .

—FH OHEWERE A7 Lok, ) OMlMiEsE 4355813, OSﬂuL®4/&—Aw&aoT<téw
A B =0y OFBRPETETA L TERWATREMERH Y 7,

3 BOMEWER ORI A BIEIIEEEROBZNNH Y £ O THaxtH ATLRNTLIEEN,

After turning off one Breaker, an interval longer than 0.5s should. be aIIOWed. before turning on the

other, B
or the switch may not be turned on because the interlock release is not completed

MITSUBISHI ELECTRIC CORPORATION LN217A215HO!

IB63A64-A 1604



